Jogbogodbotdb botdbtoboobod

gogn goobbobbbododoooooooboo

godn gooboboboooggn

HEN .00/0

goon

goon gogobbobbodooooobobibood
gozijigoigooo

goon 020-66624679 13719148859

HREREEN

gobbobobbdoddooooooboon

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
goboboobobobooooooobobbobbtooolLgoobbobbboooooobobobbboooo
gobbobbbuodgooobbobbboooooobobbou2a2000obooooboooad
goboboobbooooooobobbobbtodooooob bbb os.obbobboooo
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gobobobobooooooobbbobbtodooooob bbbl bobobbooo
gobbobbbuodoooobbobbtbdoodoobobb2a0oooooboooboood
gobboobboodoooobbbobbtbodooooob bbb oobobobbooo
gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gobbobobobooooooobbobbbodoogoobbobbbooooobbbbboooog

gobbobbboogooooboo

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon

gobbobbbogoooobobbbodoooooobo

goooobod

gobbobboogooobboobobod

goobooo

UOOAATCCOUOUOOU




gooisoooood

gooasboood

gooeBODOOO
goboosoobnoodoligz203d40sgpopoosbooigooooooboog

OAATCCO O 3003500000 DOO0O OIsonJsoGeBo O 30340 - Do

goooo

1ISOU GBI JISO O
godoobboooodooobboooooboboboooooobool~-sgggoooon
oo uooboobioo=>4uu =4000
ADOOAATCCOUUOUOOUOUOOODOUOoooobbboooooono AATCCL OO
godooooboooogd
O0000D00OONODDODODDOOKgDOOOLbfOLBSO OO O O 0O DaNO
goooon

1DaN =10 N, DaN = deca Newton

1Kg =1000 g = 9.8 N = 2.2 Lbf(s)
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1DaN =10 N, DaN = deca Newton

1Kg =1000 g = 9.8 N = 2.2 Lbf(s)
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1DaN =10 N, DaN = deca Newton

1Kg =1000g =9.8 N = 2.2 Lbf(s)
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1 KPa=7.5 mmHg =10 mBar

1 KPa = 1000 Pa
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1DaN =10 N, DaN = deca Newton

1Kg =1000g =9.8 N = 2.2 Lbf(s)
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